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048 REEREBNBEHE
Recall : X #2Y #yjointedf F,, & & AF,  (Xy)=P(X<xY<y)
HF G ARERHE AR T ARG AT B XY BFig

4 oy B A 4B (continuous joint distribution)

oF, , (X,
e fxy) = )




f, BABAMEEEZB(jointpdf), TR :

® f . (xy)=0,0xy00

o | f ., (xy)dydx=1

A joint cdf A
FX Y (X’ y) = .[—Xoo .[—yoo fX,Y (S’t)det (/%% é%ﬁ: 67\)

te# ¢ discretejointcdf: F (%, y)=3> f,, (st)

sSxtsy



Ex5.15 XY f£[r,s|x|u,v]&y joint pdf 2

e y)={

C, IF<X<s,usy<y
0, O.W.

Kooo I—oooo fX,Y (X’ y)dydx =1

=  Flcdydx=c(s-r)(v-u)=1




14 2 |r,s|, lu,v] % %[0,2].

A -
v, 0<sx<£2
fX,Y(x,y):{g = Frae7)
i



7 4k,
Foy (L) = [ [ ydydx = [L[ vdydx = %
Foy (L1.5) = [, [ xdydx = [} [°3,dydx = 3

F,,(2.51) = %

Note: F,, BF JEERM » £33 XY A& discrete or continuous.



h
Ex516 # & T jointpdf f,,(xy)=+ (x+y),
.0
. .[jooo .[—oooo fX,Y (X’ y)jydx — 1
= [l h(x+ y)dydx =1
= h(; (x+ y)dydx =hf; (xy+1y7)_dx
= h?(2x+ 2)dx = h{x? + ZXK =h(4+4)=8h

. 8h=1 = h=]}



Lo f (%) =3 O<ys<?2

Thejoint cdf of (x,y) is

Fer (% y)=P(X <X Y <y)=[ [ 1, (s t)dsdt

( 0<x<?2
X(y1
CRa(s+t)dsat 07 0
X>2
= 1 ’
y>2
0 , O.W.




t=X

%f;(%sz +ts}:)dt — %j;‘(% y* +ty)dt = %(y;t +%t2}

t=0

=5 x+ )= oy(x+ y)

( 1 ( N ) O<x<2
VXTI ey
2
FL)= 1
, y>2
0 O.W




Note :

X,Y continuousr.v.swith joint pdf f, (x,y)

—

l.e.

Pa, < X ga,b <Y <b)=[*{[f,,(x y)dypx

foo(xy) @ TF# a<x<a, , h<ysh Fmamuos -
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